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Find the correctly spelt word. © proxi
C
mity
a)musculanity b)phosperos C) proximity d)promisco
us
Choose the word whose meaning is most nearly opposite to the meaning of the d) disap
word — EMERGE pear
a)transpire b) surface c) reveal d)
disappear
Find a suitable preposition to fill in the missing word. (@) )
a in
This car comes three different models.
a)in b) with c) of d) by
We visited the Itanagar museum where we old ornaments. (a) saw
a) saw b) seen c) see d) sight
If the computer game still doesn't run, try the machine. (b) rebo
oting
a)the reboot for | b)rebooting c)reboot d)to
rebooting
At wedding, Rajiv is always in high spirits. What does “high spirit” mean in this
statement?
a) Uncontrollable | b) Nervous c) Talkative d) Cheerful d) Chee
rful
Rahim is not cut out for time bound tasks. What does “cut out” mean in this Suita
statement? ble
a) Suitable b) Skilled c) Considered d) (@)
a
Encouraged
Early Rain has brought respite to all the citizens. What is synonym of Inter
“respite”? (d) val of
relief

a)Despite

b)Uncertainty

c)Inspite of

d) Interval
of relief




9 | He is very discreet. What is synonym of “discreet”? (b)
a) Clever b) Prudent c) Honest d) Proud Prud
ent
10 | Slice this Guava that knife. (c) with
a) by b) on c) with d)in
11 | Do you think that driving a car at high speed is a experience?
a) terror b) terrifying c) terrified d) terrify (b) terrif
ying
12 | You can watch the show .......... 12 noon and 8 pm
a) at b)in c)on d) between (d) betw
een
13 | Find the correctly spelt word
a)Advercety b)Advercity c) Adversity d)Adverisity © Adve
C
rsity
Find the correctly spelt word Conci
(a) liator
14 y
a)Conciliatory b)Conniliatory c)Concilletry d)Concilleto
ry
15 | She gave a talk the causes of malaria. (b) on
a) off b) on c) for d) of
Which is the highest peak in Arunachal Pradesh? d) Kangt
16 o]
a)Kanchenjunda b) K3 c)Tempu d)Kangto
The oldest national park of Arunachal Pradesh is National Park. Nam
(a) daph
17 a
a)Namdapha b)Mouling | c)Pakke d)Eaglenest
18 “Foxtail Orchid” is state flower of both Assam and Arun
achal




Prad

esh
a) Manipur b) c) Nagaland | d) Arunachal Pradesh d
Meghalaya
First person from North East India to be honoured with Bharat Ratna was Gopi
nath
Bord
19 oloi
a) Rani Gaidinliu b) c) Pranab d) Bhupen Hazarika
Gopinath Mukherjee (b)
Bordoloi
20 | Arunachal Pradesh does not share international border with (c) Nepa
a) Bhutan b) China c) Nepal d) Myanmar !
The second most populous state of North East India is © Tripu
C
21 ra
a) Manipur b) c) Tripura d) Meghalaya
Arunachal
Pradesh
22 number of World Heritage Sites are located in North-East India. (d) 3
a)7 b) 5 c)4 d)3
23 | The National Flag of India was designed by (a)
a)Pingali Venkayya b) Lala c) Annie d)BhikajiCama Pinga
Hansraj Besant li
Venk
ayya
Southernmost point of India’s territory is known as Indir
(b) a
24 Point
a)Kanyakumari b) Indira c) Dong d) Sir Creek
Point point
Which of the following is not a classical language of India? (b) Beng
25 ali




a) Sanskrit

b) Bengali

c) Telugu

d) Odia

26 | Which of the following interrupt has highest Priority?
a) INTR b) TRAP c)RST 7.5 d) RST 6.5 TRAP
27 | Which directive is used to indicate the beginning of the address?
a) EQU b) ORG c) END d) START ORG
The mnemonics and operands fields together perform the real work of the
28 | program and accomplish the tasks.
a) Yes b) No c) Can be Yes or No d) Not possible y
es
to decide
29 | To which class of parsers does a shift reducer belong to? botto
a) b)recursive c)bottom up parsing d)Top Down m up?
Predictiv | descent Parsing parsi
e parsing | parsing ng
The machine code of a program is stored in which ELF section? .DAT
A
secti
30 on
a) .DATA | b) .CODE c) .PLT section d) .MACHINE
section section section
31 | The considered most powerful parser is
a) LALR b) SLR c¢) Canonical LR d) Operator- Cano
precedence nical
LR
32 | MIPS belongs to which class of processors?
a) CISC b) RISC c) Vector processors d) MIMD RISC
processors
33 | What does the Lexical Analyzer takes as input?
a) b) Source Code | c) Machine Code d) Bothaandc Sourc
Tokens e
Code




34 | Which of the following errors can a compiler check?
a) b) Runtime c) Syntax d) Bothaandb Synta
Logical X
35 | Theloss in signal power as light travels down the fiber is called .............
a) Attenu b) Scattering c) Propagation d) 1 a) Atten
ation 1 uatio
t n
g
{
{
1
¢
t
i
q
{
Which of the communication modes support two way traffic but in only one
36 | direction at a time?
a) Simplex b) Half Duplex c) Full Duplex d) 0 b) Half
4 Dupl
B ex
I
g
X
37 | Which transmission layer protocol is connection-less?
a) TCP b) UDP c) FTP d) 9b) uDP
N
1
i
38 | Which class addresses are reserved for multicasting?
a) ClassA b) Class B c) ClassC d) ¢d) Class
l D
q
q
[
39 | Which of following is not a field in the Ethernet message packet?
a) Data b) Type c) Message d) pin d) Pin
code code




To deliver a message to the correct application program running on a host,

40 | the address must be consulted.
a) MAC b) IP c) Port d) c) Port
Domai
n name
Which of the following TCP/IP protocols is used for the file transfer with
41 | minimal capability and minimal overhead?
a) RARP b) TFTP c) Telnet d) ARP | b) TFTP
42 | The packet of information at the Application layer is called
a) Frame b) Message c) Bit Stream d) b) Mess
Packet age
43 | Go Back N is an example of
a)Frequency b) pipelined data c) serial data transfer | d) b) Digit
modulation transfer Digital al
modula mod
tion ulatio
n
In each pass of sort, an unsorted element is placed at its suitable Inser
44 | place in an already sorted list. tion
a) b) Quick c) Bubble d)
Inser Selection
tion
When several elements are competing for the same bucket in the hash table, Collis
45 | itis called as ion
a) b) Duplication c) Collision d)
Repli Diffusion
catio
n
Which of the following is not a stable sorting algorithm in its typical Quick
46 | implementation? sort

a) b) Insertion sort c) Mergesort d)
Sele Quicksort
ction




sort

47 | What is the best time complexity of bubble sort? A n
a)n | b)nlogn c) 2" d) n?
Which of the following function is not used in linked list implementation of Add
Queue? B at
48 first
a) b) Add at first c) Delete from first d) None
Add of these
at
last
49 | Which of the following number of nodes can form a full binary tree? C 7
a)8 | b)14 )7 d) 10
Consider a complete graph G with 4 vertices. The graph G has spanning c 16
50 | trees.
a)15 | b) 8 c) 16 d) 13
A B+ tree can contain a maximum of 8 pointers in a node. What is the B 4
51 | minimum number of keys in leaves?
a)7 | b)4 c)8 d)3
is the most widely used external memory data structure. B B
52 Tree
a) b) B Tree c) Height Balanced Tree d) None
Red- of these
blac
k
tree
53 | The access method which uses key transformation is known as
Hashi
a) b) Sequential c¢) Hashing d) Random © ng
Direct
What is the most suitable relationship between BOOKS entity and Many
54 | AUTHORS entity in an ER diagram? () to
many

a) one

b) one to many

¢) many to one

d) many to many




to one

55 | Every weak entity set can be changed into a strong entity set through: addin
a) b) using c) adding d) adding appropriate g
. . . . appro
using aggregation appropriate primary key (© .
. priate
genera attributes i
lizati attrib
1zat10
utes
n
56 | A relation is in 3NF if it is in 2NF and there is: No
Trans
a) b) Relational c) No Relational d) No Transition ition
Transit | Dependency Dependency Dependency (d) Depe
ion
Depen nden
dency cy
57 | If not null constraint is specified on an attribute what does that mean? It
ensur
a) It b) It ensures c) It ensures that all | d) It ensures that all tuples es
ensure | that at least tuples have a finite | have finite attributes on all that
sthat | one foreign value on a specified | the relations all
at least | key is present | attribute tuple
one in the relation S
tuple is have
present (© a
in the finite
relatio value
n ona
speci
fied
attrib
ute
If every non-key attribute is functionally dependent on the primary key, then
58 | the relation will be in Third
a) b) Second c) First normal d) BCNF form (a) norm
Third | normal form form al
form
normal
form
59 | Which type of JOIN is used to returns rows that do not have matching values?
B Outer
a) b) Outer JOIN | ¢) EQUI JOIN d) Inner JOIN JOIN
Natura
1 JOIN




60 | Commands that comes under DDL is —
C DRO
a) b) UPDATE ¢) DROP d) INSERT P
SELE
CT
61 | Which of the following data types does the SQL standard not support?
B Strin
a) b) String(n) c¢) varchar(n) d) float(n) g(n)
char(n)
The degree of Multiprogramming is controlled by long
term
(c)
sche
62 duler
a) CPU b) context c) long term d) medium-term
scheduler switching scheduler scheduler
Input transfers are done in advance and output transfers are done after b Buffe
63 | sometimes in which of these techniques? ring
a) Spooling b) Buffering c) Swapping d) Paging
A binary semaphore ......... has
the
value
a
sone
or
64 zero
a) has the b) is essential to c) is used only d) is used only for
values one or | binary computers | for mutual exclusion
zero synchronization
65 | Because of virtual memory, the memory can be shared among proce
a
a) processes | b) threads c) instructions d)programs S5€s
When a program tries to access a page that is mapped in address space but b
66 | not loaded in physical memory, then?
a) b) fatal error c) page fault d) no error occurs fatal
segmentatio | occurs occurs error
n fault occurs occur

10




The performance of cache memory is measured in terms of Hit
67 ratio
a) Seek time | b) Access time c) Hit ratio d) Latency
Having a small amount of internal fragmentation is the weakness of .............. Simpl
68 | in memory management. e
a) Fixed b) Simple Paging | c) Virtual d) Simple Pagin
partitioning memory paging | segmentation g
If we preempt a resource from a process, the process cannot continue with its rolle
normal execution and it must be d
69 back
a) aborted b) rolled back c) terminated d) queued
To to a safe state, the system needs to keep more information about roll
the states of processes. back
the
proce
70 sS
a) abort the b) roll back the c) queue the d) none of the
process process process mentioned
Cascading termination refers to termination of all child processes before the norm
71 | parent terminates ally
or
a) normally b) abnormally c) normally or d) none of these abno
abnormally rmall
y
72 | Size and Complexity are a part of
a)Product Metrics b) Process Metrics | c)Project Metrics | d)All of the Prod
mentioned uct
Metri
cs
73 | Number of errors found per person hours expended is an example of a
a) Measurement b) Measure c¢) Metric d) All of the Metri
mentioned ¢
74 | Percentage of modules that were inspected is a part of

11




a)Product Metrics b)Process Metrics | c)Project Metrics DALl of the Proce
mentioned B > .
Metri
cs
75 | How is reliability and failure intensity related to each other?
a)direct relation b)inverse relation | c)no relation d)none of the inver
mentioned B se
relati
on
76 | Which one of the following is not a software quality model?
a)ISO 9000 b)McCall model c)Boehm model | d)ISO 9126 A ISO
9000
77 | How is software reliability defined?
a) Time b)efficiency c)quality d) Speed A Time
Identify the correct measure for correctness. Defe
cts
C per
KLO
78 C
a)Error per KLOC | b)$ per KLOC c)Defects per d)None
KLOC
79 | Which of the following are types of code review?
a)Code b)Code inspection | c)Both A and B | d)None Both
walkthrough A
C
and
B
80 | Cost and schedule are a part of
a) Product Metrics | b) Process c) Project a) Product C Proje
Metrics Metrics Metrics ct
Metri
cs
81 | Maximum number of edges in a bi-partite graph with 10 vertices is
a) 20 b) 25 c) 100 d) 50 (b) 25

12




The maximum number of leaf nodes of a full binary tree of n nodes is

(d)

n+1

82 2
a)n? n? n n+i
) by> ) df
Djikstra’s algorithm is an example of greed
y
(c)
appr
83 oach
a) dynamic | b) divide and c) greedy approach d) static
programmi | conquer programming
ng
Using Prim’s algorithm, find the minimum spanning tree for the following
graph.
(a) 32
84 | What is the sum of weight of the edges of the minimum spanning tree?
a) 32 b) 47 c) 27 d) 36
85 | For the arithmetic expression a + b * ¢ + d, which of the following parse trees (c)
is correct?
(a) (b) (c) (d)
+ + + +
VAN N VNN
a * * d + d a +
N\ /\ /N N\
b + + ¢ a ¥ *od
TANVA A\ /\
cd ab b ¢ b ¢
Pumping lemma for regular languages is used to prove that a language is not
(c) regul
86 ar
a) finite b) regular c) not regular d) finite and regular

13




Consider the following statements about problems in the NP class:

P. The solution of an NP problem is polynomially verifiable. (a) P
Q. AIlI NP hard problems belong to NP class. only
87 | Which of the following options are correct?
a) P only b) Q only c) Both Pand Q d) Neither P nor Q
The minimum state DFA corresponding to the NFA below has number of
states.
0.1
O (d) 4
\ A —— B —— C — D |
- B B L —?
a)8 b) 6 c)5 d)4
89 | The statement that transfers the control to the beginning of the loop is called
a) break b) exit c) continue d) jump statement Conti
statement statement statement ) nue
C
state
ment
90 | Literal means
a) string b) a string c) a character d) an alphabet a
constant b) string
const
ant
91 | Each C preprocessor directive begins with
a) # b) include c¢) main() d) { a) #
What does the following declaration mean in C language:
92 | int (*X) [30];
a) X is array of b) X'is a pointer | c) Xis an array of | d) Xis a type Xisa
pointers to 30 to an array of 30 ints. declaration of point
ints 30ints pointer to int array b) erto
an
array

14




of 30

ints
93 | scanf() is a predefined function in the header file
a) stdio.h b) conio.h c) stdlib.h d) ctype.h ) stdio.
a
h
94 | Choose the correct C keyword below.
a) longjmp b) default c) main d) halt b) defau
It
If the leftmost bit of a binary number is 0 in signed representation, the
95 | numberis
a) positive b) negative c) unsigned d) none of the Positi
number number number above ) ve
a
num
ber
96 | Identify the scope resolution operator
a): b) :: c)? d) ++ b)
97 | Identify the operator that can be used to replace a if-else statement.
a) Bitwise b) Logical c) conditional d) Arithmetic Condi
operator operator operator Operator ) tional
C
oper
ator
98 | When can an inline function be expanded?
a) runtime b) compile time | c) never gets d) both at runtime Com
expanded and compile time b) pile
time
99 | The “%p” printf format specifier is used to print b)
addr
a) procedure b) address c) positive int d) percentage ess
value value value
100 | Which of the following statement is correct about constructors?
a) A constructor | b) A c) A constructor | d) A constructor ) A
a
has no return constructor has | has a return cannot contain a const

a void return

15




type. type. type. function call. ructo
r has
no
retur
n
type.
SPACE FOR ROUGH WORK

16




